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B Wk E B ASZ(UT) WES | JREEI F 77 1A%
BEH S B\ BRI —Efi(45 77 8#)
BETTE s BLTRED ~ f2h BEEICE - LAY - BBA
BRI E R W | BA | BRI
— G EE%
1LEYERE (B RFRHILE Online 4HHH) 5’ ¥y | OREHEHTE
Listen to the song. B | B WRETE
2.7 SR TR B SR 45 THE | BEIWEY) -
Now it’s time to share your own experience of 100 | &tk | OB RESHE
listening to the Chinese music with us. seEnEz= 2
T R HIA BG4 -
1.7 4a S FE B SE RS 7 A
#HETT /IS LIS - RIS - BES 15’ ORE I YHEESS
HZEE  WRE - AR R FTE8 BB EM
gEEEME(/ ) - AT ER RHYAE] -
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Please listen to the song. 5 EiE | OREREE  BEELL
=~ &revdEEh (15 97) PO | BT Ram AR
HGFEE » 5w 0 18 AR AR S BLER
OLLEERZERS AR LB E] - AF5 R - atesiE | HIEH)
What is the difference between and ? %:E:““
. T O©7réHETHm * BB
What is the similarity between and ? B 5
1.What is the Similarity between —#J and HZE ? ENECRIACIES
They are all stringed instruments. e ©
2. What is the similarity between 2= and 5z ?
They need to use picks. g’ OFfemid = ¢
3. What is the difference between FEE and —#f ? BESHEEETIE
One —#H is a stringed instrument, the other is a plucked BE IR E-NG
String( 5 {0222 {E =) instrument. REE -
4. What is the difference between THIN and 2 ?
One %&£ can play harmony, the other can't.
ORIEERSEERHY 22 )T R - B BH B —(E P F 4 i
L -
Which western musical instrument is similarity to the 2’

?




Why?  Because they are...

1280 - /MRS 28] - KRE

3.pHE - R HE - §8

4N - BFE(NGE)  S.Hfr - EHfth

6.5k8 - EEH 74HE - KEFHE) SMHEL - /Nt

©Homework : $iHHPEL AT 5 5K B (H 4 s i AL
Find out the popular music which are played with
Chinese instruments.
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